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QUESTION 1

How do you examine the attributes of a Dynamic SRDF device?
A. symdev show

B. symcfg discover

C. symrdf list

D. symdev list

Correct Answer: A

QUESTION 2

TimeFinder/Snap virtual devices will be used as the control devices in an Open Replicator implementation. Which Open
Replicator copy operation is supported?

A. Cold Push
B. Cold Pull
C. Hot Push
D. Hot Pull

Correct Answer: A

QUESTION 3

In a single-hop SRDF/AR setup the options have been set as follows: Cycle Time=300 Delay Time=0 Overflow=Next
The symreplicate session was started at time 0. The actual cycle time was 450 seconds. How many seconds after the
start of the first cycle will the next cycle start?

A. 600

B. 300

C. 450

D. 900

Correct Answer: A

QUESTION 4

Under which conditions will Enginuity remove the Consistency Exempt attribute from the RDF mirror?
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A. Creating RDF pairs

B. Splitting RDF pairs

C. Moving RDF pairs

D. Suspending RDF pairs

Correct Answer: C

QUESTION 5

TimeFinder/Snap virtual devices will be used as the control devices in an Open Replicator implementation. What should
be the state of the virtual devices to create an Open Replication session?

A. Held

B. Not Ready

C. Read Write

D. Write Disabled

Correct Answer: B
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